Subject: Re: bad column in image
Posted by Jean H. on Wed, 03 Jun 2009 16:48:52 GMT

View Forum Message <> Reply to Message

Amanda wrote:

> | was just using the where function, like this: arr(where(arr[1440,*]
> GT 1000))=mean(arr) but | don't know if that's how | should be doing
> it

>

> Amanda

Amanda, pay close attention to the meaning of the index returned by the
where function. In this call, you will have the index where the value is

gt 1000 in your column of interest. arr[1440,*] is a 1D array. Then,

with these index, you are applying them to arr, which is a 2D array.
Therefore, you end up writing the mean value to the first LINE of your
array...

Jean
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